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3 gt=Ka8dad
=Rl SFAEFTAE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,712,500
14 0Bt 243 3,425,000 3,050,000 375,000
OZite st== X A& A 3,425,000
s 1,712,500
Al 1,712,500
gptae| =&AL 1,717,000 2,028,000 A311,000
= 762,000
Al 955,000
Hotete| =& 8,000 8,000 0
201 er23| 3,000 3,000
01 At2teltl 3,000 3,000
Ouokate| ge=d 3,000
202 048l 5,000 5,000
01 2L AL 5,000 5,000
O8m==Hael 2= 2,000
OcotEH| gR=d 3,000
HOtEH| 1,089,000 2,000,000 A911,000
s 762,000
Al 327,000
401 Al HIZ 2018 1,089,000 2,000,000 A911,000
= 762,000
Al 327,000
01 AlZH| 1,089,000 1,999,000 A910,000
O X7 AHEHIAY 1,089,000
[ 762,000
Al 327,000
HOFAH| (XHAI) 620,000 20,000 600,000
401 AIEHIZ R 0HYI 620,000 20,000 600,000
01 Al&H| 620,000 20,000 600,000
SACH? AHAIL S EXIAY 600,000
OUoHS HEAIEE 2+ & EX 20,000
ofrataa Mg 670,558 508,780 71,778
[ 52,295
Al 618,263
o2tz &g 670,558 598,780 71,778
= 52,295
Al 618,263
SR df==E 2l 546,870 479,400 67,470
= 52,295
Al 494,575
101 @124H| 132,554 124,400 8,154
04 JIZtNZ22 NS+ 132,554 124,400 8,14




od
i’
oF
uJ

ofe o o Jeofe e © 3 3 glalg  [g]g g [°]°
© (<o} N~ N~ [ep 2N N ep N lep) o | O (@)
= 3 3 o o S| |es o |6 o
Klo
E
F=)
818 8 8 818 8 8 8 S [N3|3 218 8 818
S|S S S S|S S S S S DD S|S S S|S
st gls 8 & |2 |8 g o N s || ¥ |9
(o]
LiEd
RIS
%%%mwm%wmmmwww&&ww%mwwmwwmmwwm%%%%wmmmmmww
¥ 3 9|99 895 5 3 558 9|93 ~|le o S|IKRoxKSSRK®ODSICIOIE OISIS 5§ S S99
gV |88 88 8RR|222|c9C|cc¥Z b 3 B88Y g g BB BEKL L
al
<
=3
W = H = W =< H =<
oir -~ = I
) o < K & &
7l H ~ ulo
Y H oF _, 20 o =l
mﬁm:.__al_x = a0 a ot m o KF
ol K = < D = 3 —
=3 E 5 W o o R | ) g o a
|2 = B W o0 RO o R =5 — . —
= % = = © %0 =< Y 3l @0 2 g = =
- AM ar o [ ok ok i) < o 2= o0 | gH w_c WE wa mA_u
= |, T2 T m o o) Al 3 el |d R E = =
i 9L o il i _ K ORO RO Rz | |H w0 0 10 30
= |« ow Som R R i Es or oo o or [z | |90 do i o i
OF |mooom wRo|_|_ ok _ F0O _ = Ok 3) = o<k o<F <t Kool 2 — = N
3l o DD . D . D . o n - i = = = = [ W M|z M 5 & =0
© |R0 R0 RO [®mo | RO ®O KO ®) RO T K0|xl ir Ko oK 1o e e "° 100 n A|s|g ™ s /A = A
= O o O {op (A OF op OF oy OF T 0|s o or o 5 W W U Wl | sl= |l < b < T <
R <E < <F|@lor <o < = S|SB A3k &1 w Ok OF OF OF o |mi |/ MW si|or ™ fo Wlis|s ®
R I5 & Blall= B & B|a|l &|a o B = < W Ylglals Hlan|=z & fo A | ™
. O OO0l O O Olag|= O~ o O — - O O O OM_1MO11OZOZ1O




SN SOt
S o MAEE XS
el N ARR XS (St &)
SA - BB - I3 - MIRAE - ofl &t G o HIDEZ
HLAHMAE= S 6,302,000 8,132,000 1,830,000
= 3,795,000
= 1,144,500
Al 1,362,500
HLHMAE= A 12,000 12,000 0
= 6,000
Al 6,000
HLUHAZZ DS T 24(H 2,000 12,000 0
WAl (HEALY)
== 6,000
Al 6,000
307 212t01& 12,000 12,000 0
[ 6,000
Al 6,000
02 B A HE L 12,000 12,000 0
O E= NsTZ2 ) 12,000
= 6,000
Al 6,000
ofefellit= QlZet = 6,290,000 8,120,000 1,830,000
= 3,795,000
= 1,138,500
Al 1,356,500
29 o2 MME S X 6,290,000 8,120,000 1,830,000
= 3,795,000
[ 1,138,500
Al 1,356,500
403 AXIEHHSAH=0lH 6,290,000 8,120,000 21,830,000
= 3,795,000
s 1,138,500
Al 1,356,500
02 SI12SotetA=2E 2 6,290,000 8,120,000 1,830,000
OZ9 ol MMe =g 6,290,000
= 3,795,000
= 1,138,500
Al 1,356,500
of=s=at20F BUSE A3t 23,986,878 39,887,585 /15,900,707
= 451,264
[ 12,455,320
= 4,525,676
Al 6,554,618
HotetH B A 3,229,478 3,444,580 A215,102
= 451,264
= 600,000
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< 680,554
Al 1,497,660

gxde el K (HEAY) 28,350 28,350 0
= 14,175
Al 14,175

401 AlZHIZ S 0HbI 28,350 28,350 0
= 14,175
Al 14,175

01 AlZ2H| 28,350 28,350 0
Oogxlder elXla 28,350
s 14,175
Al 14,175

Sl S A MA (SHTtel 7/ S) 15,000 80,000 265,000
= 15,000

307 @201 & 15,000 80,000 65,000
= 15,000

02 2B YA E X 15,000 80,000 65,000
OsdfM=S(oimeal) HMAS 15,000
= 15,000

oHEMED| HEtALY 1,200,000 1,200,000 0
s 600,000
Al 600,000

308 XXM SOIA 900,000 1,200,000 A.300,000
= 450,000
Al 450,000

1 SIS0t EAS A 900,000 1,200,000 300,000
OdftefMd ] ot 900,000
[ 450,000
Al 450,000

401 AIEHIZ SR 0HYI 300,000 0 300,000
= 150,000
Al 150,000

01 Al&H| 300,000 0 300,000
OoftMg D] et 300,000
= 150,000
Al 150,000

MO &GS XA (HEAIY) 300,000 200,000 100,000
=S 150,000
Al 150,000

401 Al HIZ R 0HHI 300,000 200,000 100,000
== 150,000
Al 150,000

01 Al&H| 300,000 200,000 100,000
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B GASLIS0F 2B s
29 ASEd= (EH9): ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol &gy Ja&otE EX 300,000
= 150,000
Al 150,000
Y T AULMYI| FOHAIS (HEAL) 500,000 500,000 0
=S 250,000
Al 250,000
307 21201 & 500,000 500,000 0
< 250,000
Al 250,000
05 2ItRIE = 500,000 500,000 0
OX S ALMY D] ==0H 500,000
& 250,000
Al 250,000
2ot of 21 MelAt 300,000 300,000 0
= 150,000
Al 150,000
308 AtXIEMSOIE 300,000 300,000 0
= 150,000
Al 150,000
11 S 2S0He & EAS A 300,000 300,000 0
OZot7 M| Ml 300,000
= 150,000
Al 150,000
OE0ts SZEHIAY 66,000 66,000 0
= 20,000
Al 46,000
101 @124H| 58,000 58,000 0
= 17,500
Al 40,500
MU IIRIMZZENSES 58,000 58,000 0
O0ENE &2 88l At 58,000
== 17,500
Al 40,500
201 el 8,000 8,000 0
= 2,500
Al 5,500
01 At2teltl 8,000 8,000 0
OO &0t 2d3Hl A 8,000
= 2,500
Al 5,500
HERFHA & SRe-H 2| 47,600 40,600 7,000
201 fet=3| 45,000 38,000 7,000
01 AtR2t2|HI 32,000 28,000 4,000
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(0 B Fol a2 e R (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ%"=+=H 2 H4ESHE H2EII=2 HMel
]l 30,000
Odf Ml BIFIIAl SMA 2,000
02 S3=gHl 13,000 10,000 3,000
O MEHl HI=IIX 23| 3,400
O&Extg S| 9,600
202 04l 2,600 2,600
01 =LHN I 2,600 2,600
Ol g4 2,600
HiCHetd XIZ01 At 542,528 549,630 AT7,102
= 271,264
= 81,379
Al 189,885
101 @124H| 542,528 535,680 6,848
= 271,264
[ 81,379
Al 189,885
M ORIMZZ2NSE S 542,528 535,680 6,848
OBICHEHEXIZ01 XIFAY F& 542,528
= 271,264
== 81,379
Al 189,885
oM HotE XelXIEA 30,000 30,000 0
= 15,000
Al 15,000
201 Ler23| 30,000 30,000 0
= 15,000
Al 15,000
01 AtR2t2lHI 30,000 30,000 0
OodHMelD| Hota MelXd At 30,000
= 15,000
Al 15,000
SHMES RHAIE (EHAI2] & RREAIE) 50,000 50,000 0
< 15,000
Al 35,000
101 @124H| 18,500 18,500 0
= 5,550
Al 12,950
MU IIRINZZENSES 18,500 18,500 0
OFoidE FHAIE (SIHtel & 2R-
2) 18,500
= 5,550
Al 12,950
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(0 B Fol a2 e R (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 31,500 31,500 0
= 9,450
Al 22,050
01 At2teltl 31,500 31,500 0
OFidE FHAIE (2SIl & FREA
2) 31,500
=S 9,450
Al 22,050
S0HE oM Il =AHXCIAIE 150,000 100,000 50,000
< 150,000
401 AIEHIX R0 150,000 0 180,000
=S 150,000
01 Al&H| 150,000 0 150,000
OZOHE o MefIl =HICIAIS (EEZ B AL
28) 150,000
= 150,000
SUHENE JIBAL == 20,757,400 36,443,005 15,685,605
= 11,855,320
== 3,845,122
Al 5,006,958
SN HENWE e =& 11,000 10,000 1,000
201 2= 4,000 4,000 0
01 At22telt] 4,000 4,000 0
Os8Xg oENEY e =8 4,000
202 04l 7,000 6,000 1,000
01 =LHAHI 7,000 6,000 1,000
Od g e 22N L2 S 2,500
ONEAIE 2t ZARX & S 2,500
O8 W A& & OHgAd =XI2el S 2,000
NXtH 22l (Xe) oA L (MetA) 200,000 300,000 100,000
& 160,000
Al 40,000
401 Al HIZL 201 200,000 300,000 100,000
= 160,000
Al 40,000
01 AlZH| 200,000 300,000 100,000
ORU2+ Xgoig He A& & elsiit
29 200,000
=S 160,000
Al 40,000
II)IWF’.;FEI(N%) HEAE(HEZF0IE AL ) (HEAL 1,400,000 2,100,000 A700,000
&
= 1,120,000
Al 280,000
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BB GULAIZ0p AMA 2
Tl HOIEOIE JIPAIY = (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AIEHIZL SO 1,400,000 2,100,000 A700,000
S 1,120,000
Al 280,000
01 Al&H| 1,400,000 2,100,000 /700,000
OFUT HEIFOHE LA 1,200,000
= 960,000
Al 240,000
O HEZF0E ZAMEZE AAIEN
= 200,000
== 160,000
Al 40,000
SEDIs FHWAIE SX(HEAIY) 800,000 800,000 0
= 640,000
Al 160,000
401 AIZHIZL R0 800,000 800,000 0
= 640,000
Al 160,000
01 AlZH| 799,000 799,000 0
O=glils F&u A8 £X 799,000
=S 640,000
Al 159,000
03 Al 20HHI 1,000 1,000 0
OSsgbls 24 A& 4X =& 1,000
AEOH Q12D AXI(HEALY) 200,000 200,000 0
= 160,000
Al 40,000
401 A& HIX R0 200,000 200,000 0
= 160,000
Al 40,000
01 A28l 200,000 200,000 0
Oa80od )| 4X 200,000
== 160,000
Al 40,000
OeAlE |2l 291,100 282,100 9,000
201 er2 3| 10,100 1,100 9,000
01 At2teltl 1,100 1,100 0
O=FMLH(Ed) AIZ2E 1,100
2 s5=34l 9,000 0 9,000
O0EgAE s582= 9,000
401 Al HIZ S OHbI 281,000 281,000
01 A28l 280,000 280,000
eleky, &, SOl EHl S 90,000
Oodgz & =2d =FAl2e 80,000
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A S0tof 2t

3 gH%*—’F—&—E—OIE 3348 L3t
ol SOENE JIENNE &5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 71,600
Al 69,600
03 Al 2 0HHI 2,000 0 2,000
Oblote: SYUHM de2 4 2,000
20218 O &= Z00A (MeHZE T, SFel=8) 6,704,000 5,296,160 1,407,840
[ 4,692,800
= 603,360
Al 1,407,840
403 MR HHMSAHE01H 6,704,000 5,296,160 1,407,840
= 4,692,800
< 603,360
Al 1,407,840
02 SIS0t 2 S A AEHI 6,704,000 5,296,160 1,407,840
O2021 0l&E=4 300At (Fel&) 2,520,000
= 1,764,000
< 226,800
Al 529,200
02021 0l&E=4 300At (MeHZ ) 4,184,000
= 2,928,800
< 376,560
Al 878,640
20228 0 &7 E300AH 3,826,800 0 3,826,800
= 2,678,760
== 344,412
Al 803,628
401 AIEHIZ R HYI 235,000 0 235,000
= 164,500
=S 21,150
Al 49,350
01 A28l 235,000 0 235,000
020223 Ol =0 EFE300AIE XSS 23t
= 235,000
= 164,500
S 21,150
Al 49,350
403 AXIEHHSAH=201H 3,591,800 0 3,591,800
= 2,514,260
= 323,262
Al 754,278
02 SII12ASOITH St =2 X A E A I 3,591,800 0 3,591,800
020228 OF0| =01 &7 E300AH 3,591,800
[ 2,514,260
= 323,262
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ol SOENE JIENNE &5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 754,278
g2 ¢ elA 30,000 1,308,000 /1,278,000
201 et 3| 26,000 1,305,000 A1,279,000
03 A2 I 26,000 1,300,000 A1,274,000
ONl43l d2f & &AL &0 26,000
202 04l 4,000 3,000 1,000
01 2LHoIH 4,000 3,000 1,000
ORMl4=l &2 & A 20 4,000
HET oAt Z JHE ALY 1,732,500 1,200,000 532,500
= 1,386,000
& 173,250
Al 173,250
401 Al HIZL 2018 1,732,500 1,200,000 532,500
= 1,386,000
< 173,250
Al 173,250
01 Al&H| 1,729,500 1,199,500 530,000
ONE T oAt Z JHEALS 1,729,500
= 1,386,000
=S 173,250
Al 170,250
03 Al 20HHI 3,000 500 2,500
ONE L oot 2 IHEAY =& 3,000
d727 22 ZgAE 575,000 125,000 450,000
= 460,000
& 57,500
Al 57,500
401 Al HIZL S 0HYI 575,000 125,000 450,000
s 460,000
s 57,500
Al 57,500
01 AlZ8| 573,000 125,000 448,000
OdR27 S24E ZEAMY 573,000
= 460,000
= 57,500
Al 55,500
03 Al 20HHI 2,000 0 2,000
O F27 224E ZgAY 2,000
o OIS PG A8 2= 1,006,800 0 1,006,800
s 704,760
Al 302,040
402 2I2F X201 & 1,006,800 0 1,006,800
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ol SOENE JIENNE &5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 704,760
Al 302,040
03 2IZHRAETAIHHI 1,006,800 1,006,800
ONELE & OtSH? LPGAIE 5 431,200
= 301,840
Al 129,360
OOtz & D= LPGAIE 2= 575,600
[ 402,920
Al 172,680
SHEE AHHAHIO ZEAY 450,000 450,000
< 315,000
Al 135,000
401 Al HIZL 2048 450,000 450,000
= 315,000
Al 135,000
01 Al&H| 450,000 450,000
OUAIE SEE AHOHAHIO LA 450,000
= 315,000
Al 135,000
X9 JIZHAE 823 FE= 5,000 5,000
201 2= 5,000 5,000
2 S22l 5,000 5,000
Od X9 JI==HE 23 R&= 5,000
g AHMZ FHISAH 125,000 125,000
= 100,000
== 12,500
Al 12,500
401 AIEHIZ R HYI 125,000 125,000
= 100,000
S 12,500
Al 12,500
01 AlZ28| 125,000 125,000
OZL &2 HHISA 125,000
[ 100,000
= 12,500
Al 12,500
A oferd JHESA 100,000 100,000
[ 80,000
= 10,000
Al 10,000
401 AIZHIX 20 100,000 100,000
[ 80,000
= 10,000




SH: S
BB GULAIZ0p AMA 2
Tl HOIEOIE JIPAIY = (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 10,000
01 AlZ2H| 100,000 100,000
Od ofierd JHESA 100,000
[ 80,000
= 10,000
Al 10,000
SR 2ZI(BAIE A 375,000 375,000
[ 300,000
= 37,500
Al 37,500
401 AIZHIZ SO 375,000 375,000
= 300,000
< 37,500
Al 37,500
01 Al&H| 375,000 375,000
OdRE 2ZJ|BAIE FHIAY 375,000
= 300,000
< 37,500
Al 37,500
CUHE =2 RYA L AL =F 100,000 100,000
= 80,000
== 10,000
Al 10,000
401 A2 HIRL 201 100,000 100,000
= 80,000
=S 10,000
Al 10,000
01 AlZ8| 100,000 100,000
ORUE 3¢z FFLX & ATAL &
= 100,000
= 80,000
= 10,000
Al 10,000
JHOt ofet=3t==2 JH& 100,000 100,000
= 80,000
= 10,000
Al 10,000
401 Al HIZ S OHbI 100,000 100,000
[ 80,000
= 10,000
Al 10,000
01 Al&H| 100,000 100,000
OOt offet=at=2 JHM 100,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 80,000
=S 10,000
Al 10,000
87T 0= gl 100,000 100,000
= 80,000
= 10,000
Al 10,000
401 Al HIZ R OHHI 100,000 100,000
[ 80,000
= 10,000
Al 10,000
01 A28l 100,000 100,000
Od=3+ 0=tz 3| 100,000
[ 80,000
= 10,000
Al 10,000
JHOt S43t 1E2H AL 200,000 200,000
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